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The puzzle file will not contain examples.

The instruction file is written in three languages:
English (1-8), Deutsch (9-12), Tiirkce (13-15)

Puzzles Points Puzzle Ideas
FINNISH SNAKE 26 Points 24 HPC

SCHLANGE 59 Points LM

DOTTED SNAKE 57 Points 24 HPC

JAPANESE SNAKE 28 Points JPC

THE PERSISTENCE OF MEMORY 21 Points OAPC

THE BOZ 39 Points Serkan Yurekli

LM DOMINO SNAKE 58 Points LM

HEXA SNAKE 34 Points ZeKa 2007

SNAKE BY 36 Points Vladimir Portugalov
EASY AS SNAKE 72 Points Nikola Zivanovic
SNAKE EGG 20 Points Serkan Yurekli

MR. UNIVERSE 99 Points Serkan Yurekli
PRIME SNAKE 24 Points Bernhard Seckinger
CRAWLING SNAKE 67 Points Riad Khanmagomedov
SIGMA SNAKE 23 Points Serkan Yurekli
OCTAGON WORD SNAKE 35 Points Serkan Yurekli



o 1. FINNISH SNAKE
Locate a 45 square long snake in the grid, whose head and tail are given, without touching
itself even at a point. All given circles must be part of the snake.
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Answer Format: Write the sizes of snake segments for the marked rows, from top to
bottom. The answer for the example would be: 111, 31

2. SCHLANGE

Locate a 45 square long (25 for the example) snake in the grid, without touching itself

even at a point. All cells occupied by the snake are numbered - starting with the head

with the number 1. Then all numbers are encrypted with letters A - J. Numbers outside
the grid indicate the amount of snake segments in the corresponding directions.

B Al G 1 A E A 3 5 2 5 3 4 3 B
Al A E 3 432 Al 3]
B_ B_6
[ == |F 5 7065 1 o[
D| | c 1 D| 7]
E_ B cC Gl 6 [10]11 25| 24| 23| 22 IE_:
o | G 2 12 21 o[ 2]
Hl | | cD GH 5 13 17118/ 19| 20 H| 0]
'l == 3 14]15|16 gl
J_ J_9

Answer Format: First write the number of turns in the snake, and then write the sizes
of snake segments for the marked rows, from top to bottom. The answer for the example
would be: 11, 41, 3

3. DOTTED SNAKE

Locate a 45 square long snake in the grid, whose head and tail are given, without touching
itself even at a point. Every third segment of the snake has a dot on itself. Numbers outside
the grid indicate the amount of dots in the corresponding directions. The black cells are

not a part of the snake.
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Answer Format: Write the sizes of snake segments for the marked rows, from top to
bottom. The answer for the example would be: 13, 3



" 4. JAPANESE SNAKE
“...~ Locate a snake in the grid, whose head and tail are given, without touching itself even

at a point. Numbers outside the grid indicate the length of snake segments in the
corresponding direction, in order.

1 2

2 31 3
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Answer Format: Write the number of the snake segments in the four regions, begining
\{V‘jrth1 %he top left region, moving clockwise. The answer for the example would be: 14, 12,
5. THE PERSISTENCE OF MEMORY

Locate a snake in the grid that starts and ends in the cells which contain the black dots,
that travels horizontally and vertically without touching itself at any point. All given
highlighted regions contain parts of the snake. The regions having the same shape should
have the same appearance with regard to the snake parts going through them, without
any rotations. Note: all identical (same shape and same size) highlighted regions are
oriented the same way in the puzzle grid.

=

Answer Format: Write the sizes of snake segments for the marked rows, from top to
bottom. The answer for the example would be: 131, 51

6. THE BOZ

Locate a 45 square long snake in the grid, starting from the top left corner and finishing
at the bottom right. The snake moves like ...white-grey-white-grey..., and cannot touch
or cross itself.

15 15

Answer Format: Write the content of the two main diagonals, first from top left - bottom
right, then bottom left - top right. Use O for empty cells, 1 for snake parts. The answer
for the example would be: 10101, 10110
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i 7. LM DOMINO SNAKE

1

Locate a snake in the grid, whose head and tail are given in circles, 2

without touching itself even diagonally. The snake must be formed of :

the given domino set, using each domino exactly once. The numbers 5
on the touching sides of dominoes must be the same. 2 |
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Answer Format: Write the content of the marked rows, from top to bottom. Use 0 for
empty cells and 1 for snake parts.The answer for the example would be: 1101000110010000,
0001110000001000

8. HEXA SNAKE

Locate a 45 square long snake in the grid, without touching itself even at a point. The 1st,
15th, 45th cells of the snake are given. Numbers outside the grid indicate the amount of
snake segments in the corresponding directions.

Answer Format: Write the content of the marked row, seperated by commas. Use 0 for
empty cells. The answer for the example would be: 0,0,8,0,20,0,30,0,27



. 9. SNAKE BY

e Locate a 45 square long snake in the grid, without touching itself even at a point. Each
outlined region must contain exactly 3 cells occupied by the snake. The regions that
contain the head and the tail of the snake are marked by grey color.
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Answer Format: Write the sizes of snake segments for the marked rows, from top to
bottom. The answer for the example would be: 23, 23

10. EASY AS SNAKE

Locate a snake in the grid, whose head and tail are given, without touching itself even
at a point. Each row/column should contain letters A, B, C on the snake. Letters outside
the grid indicate the letters that appear first in that row/column. Each arrow points
exactly 3 segments of the snake. Snake cannot cross through the cells with arrows.
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Answer Format: Write the content of the marked rows; from left to right, top to bottom.
Use 0 for empty cells, 1 for empty snake parts and corresponding letters for the snake
parts with letters. The answer for the example would be: 100ABC1, A11BC00
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11. SNAKE EGG

Locate a snake in the grid, whose head and tail are given, with touching itself only
diagonally. The remaining cells should form seven separate areas (four for the example)
with the sizes 1~7 each (1~4 for the example), and one more with an unknown size.
Numbers in the grid indicate the size of the area including that cell.

Answer Format: Write the sizes of snake segments for the marked rows, from top to
bottom. The answer for the example would be: 13, 11



5. 12. MR. UNIVERSE
" I Locate a snake in the grid, that travels only horizontally and vertically, without touching
" jtself even at a point. The snake travels along four grids, each of the grids belong to a
different puzzle. The instructions for each grid are listed below. Every rule in the instructions
is valid only for the cells of the corresponding grid. The head and tail of the snake may
be anywhere in any grid.

Obtain snake segments with linking all the given pentomino pieces. The letters outside the
0 grid indicate the pentominoes that can be seen first in the corresponding row / column.
Pentominoes may be rotated and/or mirrored. There are no pentomino pieces in crossed cells.

9 Every tree in the diagram has a tent, connected from the side. Tents cannot touch each other
even at a point. All cells which are not occupied by a tree or a tent are parts of the snake.

9 Blacken some cells to obtain snake segments. Numbers in the grid location of
indicate the amount of blackened cells in their neighbouring squares. puzzles:
Paint some squares black to obtain snake segments. Number/s in a 0:9

e square indicate the length of black cell blocks on its neighbouring cells. 6-@

If there is more than one number in a square, there must be at least one '
white cell between the black cell blocks.
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Answer Format: Write the content of the marked columns; from top to bottom, left to
right; seperated by commas. Use 0 for empty cells, 1 for snake parts, T for tents, and
corresponding letters for pentominoes. The answer for the example would be:
10ZZV00L0100000, 1TOTOTOTO0100001
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13. PRIME SNAKE

Fill in every circle inside and outside the grid with one of the given prime numbers. Prime
numbers larger than those given are not needed. Locations of all prime numbers inside
and outside the grid are given as circles.

Draw a snake of numbers in the diagram that starts with 1, grows in value with every
visited adjacent square and ends at a prime number. The snake goes through all circles
inside the grid and does not touch itself, not even diagonally. The numbers outside the
grid indicate the number of squares that are occupied by the snake in the corresponding

OOOO (3233
(I 31110 9
O @ 8 (7
= ) 2)| 1 6
41000 ()] 4|23 45

2,3,5,7,11
Answer Format: Write the sizes of snake segments for the marked rows, from top to
bottom. The answer for the example would be: 3, 11

14. CRAWLING SNAKE

There is a 33 square long (11 for the example) snake in the grid, not touching itself even
at a point. The first grid shows the starting position, and then the snake starts crawling.
It crawls one cell ahead in every second, the head moves into a free neighbouring cell and
the rest of the snake follows the previously occupied cells. Second grid shows a moment
between start and finish, and the last grid shows the final position. Numbers outside the
grid indicate the number of cells occupied by the snake in the corresponding directions,
for that position. The snake cannot touch itself even at a point during the crawling
movements. The time between grids 1 and 2 and also between 2 and 3 cannot be more
than 17 seconds (5 for the example). Find all three positions of the snake.
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Answer Format: Write the sizes of snake segments for the marked rows, from top to
bottom. The answer for the example would be: 11, 22
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15. SIGMA SNAKE

Draw a snake of letters in the grid, whose head and tail are given in cirles and that doesn’t
touch itself, not even diagonally. Avoid grey cells with numbers. The snake must be formed
only of the worded form of numbers (as written in the given word list) in any order, starting
from the head, moving along adjacent squares and ending on the tail (and NOT the
opposite). A number on a grey cell gives the total value of the worded numbers that pass
through its neighbouring cells, including the diagonal neighbours. You don’t need to use
all the words but you can use each word only once.

-oNe (O _[T]7 (oJw[T 7]
2- TWO | E|V]I
3- THREE
4- FOUR El v E! E
5- FIVE

o OOCIRE

Answer Format: Write the numbers in order from the head to tail of the snake. The answer
for the example would be: 1352

16. OCTAGON WORD SNAKE

Locate a snake in the grid, without touching itself even at a point.Three snake segments
cannot share a point. The letters inside the grid indicate the number of snake segments
in the neighbouring cells. Each letter represents a number including that letter. The cells
with letters cannot be part of the snake.

1-ONE, 2-TWO, 3-THREE, 4-FOUR, 5-FIVE, 6-SIX, 7-SEVEN, 8-EIGHT, 9-NINE

NO0000GY O ¢ O

Answer Format: Write the content of the marked rows. Use 0 for empty cells, 1 for snake
part. The answer for the example would be: 101010, 00001
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1. FINNISH SNAKE

Zeichnen Sie eine Schlange der Lange 45 (15 im Beispiel) in das Diagramm so ein, dass
diese sich nirgends selbst beruhrt, auch nicht diagonal. Kopf und Schwanz der Schlange
sind vorgegeben. Alle Felder mit einem Kreis sind Teil der Schlange.

Antworteingabe: Notieren Sie fur die markierten Zeilen - von oben nach unten - die
Langen der Schlangenabschnitte. Fur das Beispiel lautet die Eingabe 111, 31

2. SCHLANGE

Zeichnen Sie eine Schlange mit der Lange 45 (25 im Beispiel) in das Diagramm so ein,
dass diese sich nirgends selbst beruhrt, auch nicht diagonal. Alle Felder mit
Schlangenabschnitten sind nummeriert, beginnend mit dem Kopf (Nummer 1). Weiter
sind die Zifferen von 0-9 mit den Buchstaben von A-J verschlusselt. Nach dem Entschlusseln
geben die Zahlen am Rand an, wie viele Felder in der entsprechenden Zeile oder Spalte
von der Schlange belegt werden.

Antworteingabe: Geben Sie zuerst die Anzahl der Richtungswechsel der Schlange an,
dann notieren Sie fur die markierten Zeilen - von oben nach unten - die Langen der
Schlangenabschnitte. Fur das Beispiel lautet die Eingabe 11, 41, 3

3. DOTTED SNAKE

Zeichnen Sie eine Schlange mit der Lange 45 (15 im Beispiel) in das Diagramm so ein,
dass diese sich nirgends selbst beruhrt, auch nicht diagonal. Kopf und Schwanz der
Schlange sind vorgegeben. Die Schlange ist dabei, beginnend mit der 1, vom Kopf bis
zum Schwanz durchnummeriert und besitzt an allen durch drei teilbaren Stellen einen
Punkt. Die Zahlen am Rand geben an, wie viele solcher Punkte in der entsprechenden
Zeile oder Spalte zu finden sind.

Antworteingabe: Notieren Sie fur die markierten Zeilen - von oben nach unten - die
Langen der Schlangenabschnitte. Fur das Beispiel lautet die Eingabe 13, 3

4. JAPANESE SNAKE

Zeichnen Sie eine Schlange in das Diagramm so ein, dass diese sich nirgends selbst
beruhrt, auch nicht diagonal. Die Zahlen auBerhalb des Gitters geben - in der richtigen
ReiTenfolge - die Langen der Schlangenabschnitte in der entsprechenden Zeile oder
Spalte an.

Antworteingabe: Notieren Sie fur die vier markierten Regionen - beginnend oben links
und dann im Uhrzeigersinn - die Anzahlen der Felder, die von der Schlange belegt werden.
Fur das Beispiel lautet die Eingabe 14, 12, 14, 11

5. THE PERSISTENCE OF MEMORY

Zeichnen Sie eine Schlange in das Diagramm so ein, dass diese sich nirgends selbst
beruhrt, auch nicht diagonal. Die Schlange beginnt und endet dabei in den schwarzen
Punkten. Die grau hinterlegten Regionen mit identischer Form werden von der Schlange
dabei in der gleichen Art und Weise durchlaufen. Beachten Sie: Die Regionen mit
identischer Form haben im Diagramm die gleiche Orientierung.

Antworteingabe: Notieren Sie fur die markierten Zeilen - von oben nach unten - die
Langen der Schlangenabschnitte. Fur das Beispiel lautet die Eingabe 131, 51
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6. THE BOZ

Zeichnen Sie eine Schlange mit der Lange 45 in das Diagramm so ein, dass diese sich
nirgends selbst beruhrt, auch nicht diagonal. Kopf und Schwanz der Schlange sind
vorgegeben. Die Schlange passiert dabei abwechselnd graue und weiBe Felder.

Antworteingabe: Notieren Sie den Inhalt der beiden Hauptdiagonalen, erst von links
oben nach rechts unten, dann von links unten nach rechts oben. Schreiben Sie eine 1
fur Schlangenfelder, ansonsten eine 0. Fur das Beispiel lautet die Eingabe 10101, 10110.

7. LM DOMINO SNAKE

Zeichnen Sie eine Schlange in das Diagramm so ein, dass diese sich nirgends selbst
beruhrt, auch nicht diagonal. Die Schlange beginnt und endet dabei in den eingekreisten
Feldern. Die Schlange muss dabei aus den Steinen des gegebenen Dominosets gebildet
sein. Jeder Stein muss genau einmal verwendet werden und die Ziffern auf den sich
beruhrenden Seiten zweier Steine mussen gleich sein.

Antworteingabe: Notieren Sie den Inhalt der markierten Zeilen von oben nach unten.
Schreiben Sie eine 1 fur Schlangenfelder, ansonsten eine 0. Fur das Beispiel lautet die
Eingabe 1101000110010000, 0001110000001000

8. HEXA SNAKE

Zeichnen Sie eine Schlange mit der Lange 45 (30 im Beispiel) in das Diagramm so ein,
dass diese sich nirgends selbst beruhrt, auch nicht diagonal. Kopf, Schwanz und Feld 15
(10 im Beispiel) der Schlange sind vorgegeben. Die Zahlen am Rand geben an, wie viele
Schlangenfelder in der entsprechend angezeigten Richtung zu finden sind.

Antworteingabe: Notieren Sie den Inhalt der markierten Zeile, getrennt durch Kommata.
Schreiben Sie die entsprechende Zahl fur Schlangenfelder, ansonsten eine 0. Fur das
Beispiel lautet die Eingabe 0,0,8,0,20,0,30,0,27

9. SNAKE BY

Zeichnen Sie eine Schlange mit der Lange 45 in das Diagramm so ein, dass diese sich
nirgends selbst beriihrt, auch nicht diagonal. Ein Schlangenfeld ist vorgegeben. Jedes
markierte Gebiet muss dabei genau 3 Schlangenfelder beinhalten; die Gebiete, in denen
die Schlange startet und endet sind grau markiert.

Antworteingabe: Notieren Sie fur die markierten Zeilen - von oben nach unten - die
Langen der Schlangenabschnitte. Fur das Beispiel lautet die Eingabe 23, 23

10. EASY AS SNAKE

Zeichnen Sie eine Schlange in das Diagramm so ein, dass diese sich nirgends selbst
beruhrt, auch nicht diagonal. Kopf und Schwanz der Schlange sind vorgegeben. Jede
Zeile und jede Spalte enthalt in den Schlangenfeldern die Buchstaben A, B und C. Die
Buchstaben am Rand geben an, welcher der drei Buchstaben aus der entsprechenden
Richtung gesehen als erstes steht. Jeder Pfeil zeigt auf genau drei Schlangenteile, die
Schlange kann dabei nicht durch die Felder mit den Pfeilen hindurchgehen.

Antworteingabe: Notieren Sie den Inhalt der markierten Zeilen von links nach rechts
und von oben nach unten. Schreiben Sie eine 0 fur leere und eine 1 fur Schlangenfelder
ohne Buchstaben und den entsprechenden Buchstaben fur Schlangenfelder mit Buchstaben.
Fur das Beispiel lautet die Eingabe 100ABC1, A11BC00



bebebebe

11. SNAKE EGG

Zeichnen Sie eine Schlange in das Diagramm so ein, dass diese sich hochstens diagonal
beruhrt. Kopf und Schwanz der Schlange sind vorgegeben. Diejenigen Felder, die nicht
von der Schlange belegt sind, bilden sieben getrennte Gebiete der GroBe 1-7 (1-4 im
Beispiel), sowie ein zusatzliches Gebiet, dessen GroBe selbst herausgefunden werden
muss. Die Zahlen im Diagramm kennzeichnen die GroBe des Gebietes das dieses Feld
beinhaltet.

Antworteingabe: Notieren Sie fur die markierten Zeilen - von oben nach unten - die
Langen der Schlangenabschnitte. Fur das Beispiel lautet die Eingabe 13,11

12. MR. UNIVERSE

Zeichnen Sie eine Schlange so ein, dass diese sich nirgends selbst beruhrt, auch nicht
diagonal. Die Schlange geht dabei durch vier Diagramme, jedes gehort zu einem anderen
Ratsel. Die Regeln fur jedes der vier Digramme werden im Folgenden beschrieben. Jedes
Regelset ist dabei nur fur die Felder in dem entsprechenden Diagramm gultig. Kopf und
Schwanz der Schlange mussen selbst lokalisiert werden.

1- Links oben: Die Schlange in diesem Diagramm muss ausschlieBlich aus den gegebenen
Pentominos zusammengesetzt werden. Die Buchstaben am Rand geben an, welches der
Pentominos man aus dieser Richtung zuerst “sehen” kann. Die Pentominos konnen gedreht
und/oder gespiegelt werden. Felder mit einem X werden von der Schlange nicht
durchlaufen.

2- Rechts oben: Jeder Baum in dem Diagramm hat genau ein Zelt, das in einem zu ihm
orthogonal benachbarten Feld steht. Zelte beruhren sich nicht, auch nicht diagonal. Alle
Zellen, die nicht von einem Zelt oder einem Baum belegt sind, gehoren zur Schlange.

3- Links unten: Die Zahlen im Grid geben die Anzahl der von der Schlange belegten
Feldern in der unmittelbaren Nachbarschaft der Zahlen an.

4- Rechts unten: Schwarzen Sie einige der leeren Felder um die Schlangenfelder zu
erhalten. Die Zahlen in den Feldern geben Hinweise auf deren Nachbarfelder: Diese
geben die Anzahlen direkt zusammenhangender Schwarzfelder an. Enthalt ein Feld mehr
als eine Zahl, muss zwischen den schwarzen Zellblocken mindestens ein Feld leer bleiben.
Die Anordung der Zahlen spielt dabei keine Rolle.

Antworteingabe: Notieren Sie den Inhalt der markierten Spalten von oben nach unten
und von links nach rechts. Schreiben Sie eine 1 fur Schlangenfelder (resp. links oben den
entsprechenden Buchstaben fur das Pentomino), eine 0 fur leere Felder und Baume und
T fur Zelte. Fur das Beispiel lautet die Eingabe 10Z2ZV00L0100000, 1TOTOTOTO00100001

13. PRIME SNAKE

Fullen Sie in jeden Kreis innerhalb und auBerhalb des Diagramms eine der gegebenen
Primzahlen. GroRere Primzahlen als die Vorgegebenen werden nicht verwendet. Alle
Primzahlen innerhalb und auBerhalbs des Diagramms sind mit Kreisen markiert.

Zeichnen Sie eine Schlange in das Diagramm so ein, dass diese sich nirgends selbst
beruhrt, auch nicht diagonal. Nummerieren Sie - beginnend mit der Eins - alle fortlaufenden
Felder der Schlange durch. Die Schlange geht so durch alle Felder mit einem Kreis und
endet auch in einem solchen Feld. Die Zahlen am Rand geben an, wie viele Schlangenfelder
in der entsprechend Zeile oder Spalte zu finden sind.

Antworteingabe: Notieren Sie fur die markierten Zeilen - von oben nach unten - die
Langen der Schlangenabschnitte. Fur das Beispiel lautet die Eingabe 3, 11
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14. CRAWLING SNAKE

Zeichnen Sie eine Schlange mit der Lange 33 (11 im Beispiel) in das Diagramm so ein,
dass diese sich nirgends selbst beruhrt, auch nicht diagonal. Das erste Diagramm zeigt
die Startposition der Schlange. Diese kriecht ein Feld pro Sekunde weiter: Der Kopf der
Schlange bewegt sich dabei auf ein freies orthogonales Nachbarfeld und der Rest der
Schlange folgt den anderen von der Schlange besetzten Zellen (D.h. in einer Sekunde
bewegt sich der Kopf ein Feld weiter und das Schwanzteil verschwindet, der Rest
der Schlange bleibt). Das zweite Diagramm zeigt einen Moment zwischen Start und Ende,
das dritte und letzte Diagramm zeigt die endgultige Position der Schlange.

Die Zahlen am Rand jedes Diagramms geben an, wie viele Schlangenfelder in der
entsprechenden Zeile oder Spalte zu finden sind. Die Schlange kann sich wahrend ihrer
Bewegungen nicht selbst beriihren, auch nicht diagonal. Die Zeit zwischen den Diagrammen
1 und 2, sowie zwischen 2 und 3 betragt dabei nicht mehr als 17 Sekunden (5 im Beispiel).
Finden Sie alle drei Positionen der Schlange.

Antworteingabe: Notieren Sie fur die markierten Zeilen - von oben nach unten - die
Langen der Schlangenabschnitte. Fur das Beispiel lautet die Eingabe 11, 22

15. SIGMA SNAKE

Zeichnen Sie eine Schlange aus Buchstaben in das Diagramm so ein, dass diese sich
nirgends selbst beruhrt, auch nicht diagonal. Kopf und Schwanz der Schlange sind durch
eingekreiste Buchstaben vorgegeben. Die Schlange muss aus einer Kette der vorgegebenen
Zahlworter bestehen, die in beliebiger Reihenfolge verwendet werden durfen. Folgt man
der Schlange vom Kopf zum Schwanz mussen alle Worter lesbar sein (d.h. sie durfen
nicht verkehrt herum geschrieben werden). Eine Zahl in einem grauen Feld gibt die
Summe derjenigen Zahlworter an, die es in mindestens einem Feld beruhrt (auch diagonal).
Die Schlange kann dabei nicht durch die grauen Felder hindurchgehen. Sie mussen nicht
alle vorgegebenen Worter verwenden, jedoch jedes hochstens einmal.

Antworteingabe: Notieren Sie die verwendeten Zahlen in der Reihenfolge vom Kopf zum
Schwanz der Schlange. Fur das Beispiel lautet die Eingabe 1352.

16. OCTAGON WORD SNAKE

Zeichnen Sie eine Schlange in das Diagramm so ein, dass diese sich nirgends selbst
beruhrt, auch nicht diagonal. Drei Schlangenteile durfen sich nicht in einem Punkt treffen.
Die Buchstaben im Diagramm geben die Anzahl der Schlangenteile in den jeweils
benachbarten Zellen an. Jeder Buchstabe steht dabei fur eine Zahl, die diesen Buchstaben
enthalt. Felder mit Buchstaben konnen nicht Teil der Schlange sein.

1-ONE, 2-TWO, 3-THREE, 4-FOUR, 5-FIVE, 6-SIX, 7-SEVEN, 8-EIGHT

Antworteingabe: Notieren Sie den Inhalt der markierten Zeilen von oben nach unten.
Schreiben Sie eine 1 fur Schlangenfelder, ansonsten eine 0. Fur das Beispiel lautet die
Eingabe 101010, 00001
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1. FINNISH SNAKE

Diyagrama 45 birim uzunlugunda, kendisine caprazdan bile degmeyen bir yilan yerlestirin.
Yilanin basi ve sonu verilmistir. Diyagramda verilen tum daireler yilanin bir parcasi
olmalidir.

Cevap Anahtar: Yukaridan asagiya dogru her isaretli satirdaki yilan parcalarinin
uzunluklarini soldan saga sirayla yazin. Ornek icin cevap soyle olurdu: 111, 31

2. SCHLANGE

Diyagrama 45 birim uzunlugunda(ornek icin 25), kendisine caprazdan bile degmeyen bir
yilan yerlestirin. Yilan tarafindan isgal edilen tum hucreler 1’den baslayarak
numaralandinlmistir. Sonrasinda 0’dan 9’a tum rakamlar A’dan J’ye harflerle sifrelenmistir.
Diyagram disindaki sayilar, ilgili dogrultudaki toplam yilan parcasinin sayisini soylemektedir.

Cevap Anahtart: ilk olarak yilanin kose sayisim yazin; sonrasinda yukaridan asagiya dogru
her isaretli satirdaki yilan parcalarinin uzunluklarini soldan saga sirayla yazin. Ornek icin
cevap soyle olurdu: 11, 41, 3

3. DOTTED SNAKE

Diyagrama 45 birim uzunlugunda, kendisine ¢caprazdan bile degmeyen bir yilan yerlestirin.
Yilanin basi ve sonu verilmistir. Yilanin her uiclincii parcasi bir noktaya sahiptir. Diyagram
disindaki say1lar ilgili dogrultudakl toplam nokta sayisini gostermektedir. Siyah hucreler
y1lamn parcasi olamaz.

Cevap Anahtari: Yukardan asagiya dogru her isaretli satirdaki yilan parcalarinin uzunluklarim
soldan saga sirayla yazin. Ornek icin cevap soyle olurdu: 13, 3

4. JAPANESE SNAKE

Diyagrama 45 birim uzunlugunda, kendisine caprazdan bile degmeyen bir yilan yerlestirin.
Yilanin basi ve sonu verilmistir. Diyagram disindaki sayilar ilgili dogrultudaki yilan
parcalarlmn uzunluklarim SIras1yla vermektedir.

Cevap Anahtari: Sol ust bolgeden baslayip saat yonunde ilerleyerek her 4 bolge icindeki
toplam yilan parcasi uzunluklarini yazin. Ornek icin cevap soyle olurdu: 14, 12, 14, 11

5. THE PERSISTENCE OF MEMORY

Diyagrama yatay ve dikey ilerleyen, kendisine caprazdan da olsa degmeyen, basi ve
kuyrugu verilmis olan bir yilan cizin. Diyagramdaki tim sekiller yilan parcasi icermektedir.
Ayn sekle sahip bolgeler, herhangi bir dondurme olmaksizin tamamen ayni yilan goruinustuine
sahip olmalidir.

Cevap Anahtari: Yukardan asagiya dogru her isaretli satirdaki yilan parcalarinin uzunluklarim
soldan saga sirayla yazin. Ornek icin cevap soyle olurdu: 131, 51

6. THE BOZ
Sol iist koseden baslayip sag alt kosede biten 45 birim uzunlugunda kendisine caprazdan
bile degmeyen bir yilan c¢izin. Yilan ...beyaz-gri-beyaz... seklinde hareket etmektedir.

Cevap Anahtari: Diyagramin iki ana kosegeninin icerigini girin. ilk 6nce sol Ust-sag alt
kosegenin, sonrasinda ise sol alt- sag ust kosegenin. Bos hucreler icin 0, yilan parcasi olan
hiicreler icin 1 kullanin. Ornek icin cevap séyle olurdu: 10101, 10110

7. LM DOMINO SNAKE

Diyagrama basi ve sonu dairelerle verilmis kendisine caprazdan da olsa degmeyen bir
yilan cizin. Yilan verilen domino seti formatinda olmalidir. Yani tiim dominolar bir kez
kullanarak bir yilan cizin. Yilan parcasi olan dominolarda, kenardan birbirlerine degen
dominolar ayni sayiy1 icermelidir.

Cevap Anahtari: Yukarndan asagiya dogru her isaretli satirdaki yilan parcalarinin uzunluklarim
soldan saga sirayla yazin. Bos hiicreler icin 0, yilan parcasi olan hiicreler icin 1 kullanin.
Ornek icin cevap soyle olurdu: 1101000110010000, 0001110000001000
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8. HEXA SNAKE

Diyagrama 45 birim uzunlugunda, kendisine caprazdan bile degmeyen bir yilan yerlestirin.
Yilanin 1., 15. ve 45. hucreleri verilmistir. Diyagram disindaki sayilar ait olduklar ok
dogrultusundaki toplam yilan parcalarinin uzunluklarini gostermektedir.

Cevap Anahtari: isaretli satirin icerigini virgil kullanarak yazin. Bos hiicreler icin 0
kullamn. Ornek icin cevap soyle olurdu: 0,0,8,0,20,0,30,0,27

9. SNAKE BY

Diyagrama 45 birim uzunlugunda, kendisine caprazdan bile degmeyen bir yilan yerlestirin.
Cizgilerle simrlan belirlenmis her bolgede yilanin tam olarak 3 parcasi yer almak zorundadir.
Yilanin basi ve sonu gri ile isaretlenmis bolgelerin icin olmalidir.

Cevap Anahtari: Yukandan asagiya dogru her isaretli satirdaki yilan parcalarinin uzunluklarini
soldan saga sirayla yazin. Ornek icin cevap soyle olurdu: 23, 23

10. EASY AS SNAKE

Kendisine caprazdan da olsa degmeyen, basi ve sonu verilmis bir yilan yerlestirin diyagrama.
Her satir ve siitunda A, B, C harfleri mutlaka yer almalidir ve bunlar yilanin Uzerinde
olmak zorundadir. Diyagram disindaki harfler o satir ya da suitunda ilk gorulen harfi
gostermektedir. Her ok tam olarak 3 yilan parcasini isaret etmektedir ve ok bulunan
hiicrelerden yilan gecemez.

Cevap Anahtari: Yukaridan asagiya dogru her isaretli satirin icerigini girin. Bos hiicreler
icin 0, bos yilan parcasi olan hucreler icin 1 ve Uzerinde harf olan yilan parcasi bulunduran
hucreler icin de o harfi yazin. Ornek icin cevap soyle olurdu: 100ABC1, A11BC00

11. SNAKE EGG
Diyagrama basi ve sonu verilmis, kendisine sadece caprazdan degebllen bir y1lan yerlestlrln
Yilandan geriye kalan hucreler her biri 1’den 7’ye buyukluge(ornek icin 1’den 4’e) sahip

.....

bolge olusmalidir. Dlyagramdakl sayllar ait olduklar bolgenin biiyikligiini gostermektedir.

Cevap Anahtari: Yukandan asagiya dogru her isaretli satirdaki yilan parcalarinin uzunluklarini
soldan saga sirayla yazin. Ornek icin cevap soyle olurdu: 13, 11

12. MR. UNIVERSE

Diyagrama yatay ve dikey ilerleyen, kendisine caprazdan da olsa degmeyen bir yilan
¢izin. Yilan dort diyagramda dolagmaktadir, her bir diyagram farkli bir soru ¢esidine aittir.
Her diyagram icin yonergeler asaglda verllmlstlr Her diyagramin kurali sadece 0 diyagrama
ait hucreler lcerlsmde gecerlidir. Yilanin bas1 ve kuyrugu herhangi bir diyagramda herhangi
bir yerde olabilir.

1) Verilen pentomino parcalarini birbirine ekleyerek yilan parcalar elde edin. Diyagramin
disindaki harfler ilgili satir/ sutunda gorulen ilk pentomino parcasini gostermektedir.
Pentominolar dondurulebilir ve ters cevrilebilir. Carpi isaretli hucrelere pentomino parcasi
gelemez.

2) Diyagramdaki her agaca kenardan bagli bir cadir bulunmaktadir. Cadirlar birbirlerine
caprazdan da olsa degemez. Agac veya cadir bulunmayan her hiicreden yilan gecmektedir.

3) Baz1 hucreleri karalayarak yilan parcalari elde edin. Diyagramdaki sayilar komsu
huicrelerinde kac hiicrenin karalanacagin1 gostermektedir.

4) Bazi hucreleri karalayarak yilan parcalan elde edin. Diyagramdaki sayilar komsu
hucrelerindeki karali hiicre bloklarim gostermektedir. Bir hucrede birden fazla say1 varsa,
komsularindaki karali hucre bloklar arasinda en az bir beyaz hucre olmalidir. Say1 iceren
hucreler karalanamaz.

Cevap Anahtarn: Soldan saga dogru her isaretli siitunun icerigini yukardan asagiya virgiil
kullanarak sirayla yazin. Bos hucreler icin 0, yilan parcalar icin 1, cadirlar i¢cin T ve
pentominolar i¢in onlar temsil eden harfleri kullanin. Ornek icin cevap soyle olurdu:
10Z2Zv00L0100000, 1TOTOTOTO0100001
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13. PRIME SNAKE

Diyagramin disinda ve icinde verilen tum daireleri verilen asal sayilarn kullanarak doldurun.
Verilen asal sayilardan buyuk asal sayilara ihtiyacimz yok. Diyagram disinda ve icinde
tum asal sayilarin yerleri dairelerle verilmistir.

1’den baslayarak, kendisine caprazdan da olsa degmeyen, komsu hiicreler boyunca
ilerleyen ve asal bir sayida biten bir yilan cizin. Yilan diyagram icinde verilen tum
dairelerden gecmek zorundadir. Diyagram disindaki sayilar o satir ya da sutunda yer alan
toplam yilan parcasi sayisin1 vermektedir.

Cevap Anahtan: Yukarndan asaglya dogru her isaretli satirdaki yilan parcalarinin uzunluklarinm
soldan saga sirayla yazin. Ornek icin cevap soyle olurdu: 3, 11

14. CRAWLING SNAKE

Diyagramda 33 birim uzunlugunda(Ornek icin 11) kendisine caprazdan da olsa degmeyen
bir yilan vardir. ilk diyagram yilamn baslama pozisyonunu gostermektedir ve sonrasinda
yilan siiriinmeye baslamistir. Siirlinme isi su sekilde gerceklesir: Yilanin basi bulundugu
hiucreye kenardan komsu herhang1 bir hucreye ilerler ve yilanin geriye kalani da kendinden
onceki hucrenin bosaltt1g1 hicreye gecer. lkinci diyagram yilanin baslangic ve bitis
pozisyonlarinin arasini, Ucuncu diyagram da bitis pozisyonunu gostermektedir. Dlyagram
disindaki sayilar o satir ya da sutunda yilan parcalarlmn toplam sayisin1 gostermektedir.
Yilan siiriinme esnasinda, herhangi bir anda kendisine caprazdan da olsa degemez 1.
pozisyon ile 2. ve 2. p021syonla 3. arasinda gecen zaman 17 saniyeden (ornek icin 5)
buyuk olamaz. Yilan her saniyede bir birim yol kat edebilmektedir. 3 pozisyonu da bulun.

Cevap Anahtar: Yukandan asagiya dogru her isaretli satirdaki yilan parcalarinin uzunluklarini
soldan saga sirayla yazin. Ornek icin cevap soyle olurdu: 11, 22

15. SIGMA SNAKE

Diyagrama komsu hiicreler boyunca ilerleyen ve kendisine caprazdan da olsa degmeyen
bir yilan ¢izin. Yilan sadece verilen rakamlarin yazilislarindan (listede verilen sekilde)
olusmalidir. Tum rakamlar kullanilmak zorunda degildir ve rakamlar herhangi bir sirayla
yazilabilir. Diyagramin icindeki sayilar o hiicreye degen (noktasal temas dahil) tiim
rakamlarin toplamini vermektedir. Yilanin basi ve kuyrugunu iceren hiicreler daire ile
isaretlenmistir ve yilamin bazi parcalan verilmistir. Rakamlar birden cok kez kullanilamaz.

Cevap Anahtari: Yilanin basindan kuyruguna dogru icerdigi rakamlar yazin. Ornek icin
cevap soyle olurdu: 1352

16. OCTAGON WORD SNAKE

Diyagrama kendisine caprazdan da olsa degmeyen bir yilan cizin. Herhangi 3 yilan parcasi
bir noktay1 paylasamaz. Diyagramdaki her bir harf, o harfi iceren bir rakami temsil
etmektedir ve bu rakamlar komsu hiicrelerdeki yilan parcalarinin toplam sayisini verir.
Harf iceren hicrelerden yilan gecemez.

1-ONE, 2-TWO, 3-THREE, 4-FOUR, 5-FIVE, 6-SIX, 7-SEVEN, 8-EIGHT

Cevap Anahtari: isaretli satirlarin icerigini girin. Bos hiicreler icin 0, yilan parcalan icin
1 kullanin. Ornek icin cevap soyle olurdu: 101010, 00001



